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חשיבה כמותית
בפרק זה מופיעות שאלות ובעיות של חשיבה כמותית.  לכל שאלה מוצעות ארבע תשובות.  עליכם לבחור את התשובה 

הנכונה ולסמן את מספרה במקום המתאים בגיליון התשובות.

הערות כלליות בנוגע לפרק חשיבה כמותית:
הסרטוטים המצורפים לחלק מהשאלות נועדו לסייע בפתרונן, אך אין הם מסורטטים בהכרח על פי קנה מידה.    *

אין להסיק מסרטוט בלבד על אורך קטעים, גודל זוויות, וכיוצא בהם.  
אם קו נראה ישר בסרטוט, אפשר להניח שהוא אכן ישר.  *

כאשר מופיע בשאלה מונח גאומטרי (צלע, רדיוס, שטח, נפח וכו') כנתון, הכוונה היא למונח שערכו גדול מאפס,   *
אלא אם כן מצוין אחרת.  

     .a הכוונה היא לשורש החיובי של ,(a > 0) a כאשר כתוב בשאלה   *

סימנים ונוסחאות:
הסימן  פירושו זווית של 90° - זווית ישרה.  .1

 

ABC  פירושו הזווית הכלואה   
.BC-ו AB בין הקטעים  

.b-מקביל ל a פירושו a || b  

.b-מאונך ל a פירושו a ⊥ b  

אפס אינו מספר חיובי ואינו מספר שלילי.  .2
אפס הוא מספר זוגי.  

אחד אינו מספר ראשוני.  

 a x100 $ אחוזים:  %a מ-x הם    .3

חזקות:  לכל מספר  a  שונה מאפס,   .4
ולכל  n  ו-m  שלמים -  

  am + n = am · an ב.   a
a
1
n=-n א.   

 (0 < a , 0 < m)  a amm
n n

= ^ h ג.   

 an · m = (an)m ד.   

  (a ± b)2 = a2 ± 2ab + b2 נוסחאות כפל מקוצר:   .5

(a + b)(a – b) = a2 – b2   

דרך
   

בעיות דרך:   = מהירות זמן6.     
כמות עבודה

   
בעיות הספק:   = הספק         זמן7. 

AD || BE || CF   :פרופורציה:   אם  .8

  
AC
AB

DF
DE

= וגם    
DE
AB

EF
BC

= אזי:   

משולש:  .9
a שטח משולש שאורך בסיסו א.   

  a h
2
$ ואורך הגובה לבסיס זה h הוא:     

משפט פיתגורס: ב.   
במשולש ישר זווית ABC כבסרטוט   

AC2
 = AB2

 + BC2 מתקיים החוק הבא:    

במשולש ישר זווית שזוויותיו ג.   

30°, 60°, 90°, אורך הניצב שמול   
הזווית 30° שווה לחצי אורך היתר.   

 a · b  :הוא b ורוחבו a שטח מלבן שאורכו  .10

,a שטח טרפז שאורך בסיסו האחד  .11
h וגובהו ,b אורך בסיסו האחר  

    a b h
2

$+] g הוא:    

סכום הזוויות הפנימיות במצולע  .12
בעל n צלעות הוא:  (180n – 360) מעלות.  

במצולע משוכלל בעל n צלעות גודל כל זווית פנימית   

 מעלות.
n n

n
180

360 180 360
− =

−b bl l הוא:   

עיגול, מעגל:  .13
r שטח עיגול שרדיוסו א.   

(π = 3.14...) πr2  :הוא   

2πr  :הוא r היקף מעגל שרדיוסו ב.   

   x° שטח גזרת עיגול בעלת זווית ראש ג.   
   

πr2 · x 
 360

הוא:     

תיבה, קובייה:  .14
,a הנפח של תיבה שאורכה א.   

a · b · c  :הוא c וגובהה b רוחבה   

2ab + 2bc + 2ac :שטח הפנים של התיבה הוא ב.   

 a = b = c  בקובייה מתקיים ג.   

גליל:  .15
שטח המעטפת של גליל שרדיוס א.   
2πr · h  :הוא h וגובהו r בסיסו   

שטח הפנים של הגליל הוא: ב.   

 2πr2
 + 2πr · h = 2πr(r + h)   

πr2· h  :הנפח של הגליל הוא ג.   

h וגובהו r נפח חרוט שרדיוס בסיסו  .16
    πr2 · h

     3
הוא:   

בפרק זה 25 שאלות.
הזמן המוקצב הוא 25 דקות.

x°
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השוואה כמותית (שאלות 6-1)
השאלות 6-1 מורכבות מזוגות של ביטויים.  בכל שאלה, ביטוי אחד מופיע בטור א, וביטוי שני בטור ב.

בטור שלישי מופיע לעתים מידע נוסף הנוגע לזוג הביטויים שבטורים א ו-ב.  המידע הנוסף עשוי להיות חיוני לפתרון 
השאלה.  עליכם להשוות בין שני הביטויים, אגב הסתייעות במידע הנוסף (אם הוא קיים), ולקבוע אם: 

הביטוי שבטור א גדול יותר  (1)
הביטוי שבטור ב גדול יותר  (2)

שני הביטויים שווים זה לזה  (3)
המידע הנתון אינו מספיק כדי לקבוע איזה מהנ"ל הוא יחס הגדלים בין הביטויים  (4)

לאחר שבחרתם באפשרות שנראית לכם נכונה, סמנו את מספרה במקום המתאים בגיליון התשובות.

מידע נוסףטור בטור א

מספר המספרים הזוגיים1.
בין 103 ל-206

מספר המספרים שמתחלקים ב-5 
בין 1 ל-103  

סכום השטחים המקווקוויםהשטח הכהה2.

ABCDEF הוא משושה משוכלל.
הנקודה O היא מפגש אלכסוני המשושה.

.3ABCD

α < 90°

מספר הגולות של רונה 4.
שאינן אדומות

מספר הגולות של רן 
שאינן אדומות

לרונה ולרן אותו מספר גולות, אבל 
לרונה יש יותר גולות אדומות משיש 

לרן.

.5α15°

.6| a – b |7
 a ו-b הם מספרים שלמים וחיוביים.

a · b = 18

A

B C

D

E

O

F

A

B

C

D
α

α
5α

270º



- 20 -

כל הזכויות שמורות למרכז ארצי לבחינות ולהערכה (ע"ר)  ©
אין להעתיק או להפיץ בחינה זו או קטעים ממנה, בכל צורה ובכל אמצעי, או ללמדה, כולה או חלקים ממנה, בלא אישור בכתב מהמרכז הארצי לבחינות ולהערכה.

מועד דצמבר 2009 חשיבה כמותית - פרק ראשון 

שאלות ובעיות (שאלות 16-7)

עודד יצא מ-A ונסע במהירות של 60 קמ"ש ל-B.  הוא הגיע ל-B כעבור  .7
 שעות, ומיד חזר מ-B ל-A במהירות של 40 קמ"ש.

2
1

1  

 ? A-ל B-כמה שעות ארכה נסיעתו חזרה מ  

2
4
3  (4)  3  (3)  2

2
1  (2)  2

4
1  (1)  

הממוצע של 2 מספרים שווה לאחד מהם.  .8
מה היחס בין 2 המספרים?   

 1 : 1  (1)
1 : 2  (2)

1 : 1.5  (3)
1 : 2.5  (4)

נתון ישר במערכת צירים החותך את ציר ה-x בנקודה אחת בלבד, שאינה ראשית הצירים.  .9
. x-הישר הנתון אינו מאונך לציר ה  

איזו מהטענות הבאות נכונה בהכרח?    

הישר יוצר משולש ישר זווית עם הצירים   (1)

הישר יוצר מלבן עם הצירים   (2)

 x-בנקודה שמעל לציר ה y-הישר חותך את ציר ה  (3)

 x-בנקודה שמתחת לציר ה y-הישר חותך את ציר ה  (4)

1 , , , ...2
1

4
1

8
1 נתונה הסדרה הבאה:   .10

איזו מהטענות הבאות אינה נכונה?   

כל איבר גדול מהאיבר שאחריו פי 2  (1)

כל איבר קטן מהאיבר הקודם לו  (2)

ההפרש בין כל שני איברים סמוכים קָטֵן ככל שמתקדמים בסדרה  (3)

קיים איבר שלילי בסדרה  (4)

?72 =  .11

26  (1)

 3 6  (2)

123  (3)

4 3  (4)
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שלומי בנה גדר שאורכה 12.25 מטרים.  הגדר מורכבת מעמודים שעובי כל אחד מהם 25 ס"מ,   .12
ומחוטי תיל, שאורך כל אחד מהם 75 ס"מ, המקשרים בין כל שני עמודים (ראו סרטוט).

כמה עמודים יש בגדר?  

10  (1)

11  (2)

13  (3)

14  (4)  

(x ≠ -1)  1x
x x

1
1 1 =+

− − −] ]g g
נתון:   .13

x = ?  

4  (4)  3  (3)  2  (2)  1  (1)  

שטח מעגל שרדיוסו r ס"מ שווה ל-5πr סמ"ר.  .14

 r = ?  

2.5 ס"מ  (1)

5 ס"מ   (2)

5 ס"מ   (3)

10 ס"מ   (4)  

נתונים שישה משולשים חופפים, ישרי זווית ושווי שוקיים.  .15
מניחים את ששת המשולשים זה ליד זה ללא חפיפות.  

איזו מהצורות הבאות לא יכולה להתקבל?  

ריבוע  (1)  
מלבן  (2)  

טרפז שווה שוקיים  (3)  
מקבילית  (4)  

בריבוע שלפניכם c ,b ,a ו-d הם מספרים גדולים מ-0.  סכומי המספרים בכל אחד   .16
מהטורים שווים זה לזה, וסכומי המספרים בכל אחת מהשורות שווים זה לזה.

איזו מהטענות הבאות נובעת מכך בהכרח?  

b = c -ו  a = d  (1)  

a · d = b · c  (2)  

 a = b = c = d = 1  (3)  

a + d = c + b  (4)  

75

25

a

c

b

d
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הסקה מטבלה (שאלות 20-17)
עיינו היטב בטבלה שלפניכם, וענו על ארבע השאלות שאחריה.

בטבלה נתונים המאפשרים לחשב את סכום מס ההכנסה (בשקלים) שאזרח צריך לשלם בהתאם למשכורתו החודשית.  
המשכורת מחולקת למדרגות מס.  בכל מדרגה יש לשלם את שיעור המס (באחוזים) המתאים לה.

אזרח שמשכורתו גבוהה או שווה למשכורת המצטברת עד למדרגה מסוימת, משלם באותה מדרגה את המס המרבי.  
בטבלה מופיע גם המס המרבי המצטבר עד לכל מדרגה (כולל).

לדוגמה: אזרח המשתכר 3,500 שקלים בחודש נמצא במדרגת המס השנייה.  על 2,000 השקלים הראשונים הוא משלם 
את המס המרבי למדרגה הראשונה, שהוא 200 שקלים.  על 1,500 השקלים הנותרים הוא משלם את אחוז המס 

המתאים למדרגה השנייה, שהוא 20%, כלומר 300 שקלים.  בסך הכול הוא משלם מתוך משכורתו 500 שקלים מס 
הכנסה, ונשארים לו 3,000 שקלים.  

  

שימו לב: בתשובתכם לכל שאלה התעלמו מנתונים המופיעים בשאלות האחרות.

השאלות

דני השתכר 50,000 שקלים בחודש ומיכאל השתכר 40,000 שקלים בחודש.  מה ההפרש (בשקלים) בין סכום   .17
הכסף שנשאר לדני לבין סכום הכסף שנשאר למיכאל, לאחר ששניהם שילמו מס הכנסה? 

4,000  (4)  5,000  (3)  8,000  (2)  10,000  (1)  

שיעור המס המרבי שיפעת משלמת על משכורתה הוא 45%.  מכאן שיפעת משתכרת בחודש לכל הפחות    .18
ולכל היותר  שקלים.   

17,000  ;  9,001  (1)  
36,000  ;  9,001  (2)  
17,000  ;  6,900  (3)  
36,000  ;  6,900  (4)  

הוצע שינוי לחישוב המס: להוריד את אחוז המס ל-5% במדרגה הראשונה ול-10% במדרגה השנייה,    .19
ולעומת זאת, להעלות את אחוז המס במדרגה השלישית ל-40%. 

 

אם אזרח שילם לפני השינוי x שקלים מס הכנסה, כמה שקלים ישלם אחרי השינוי?  

אי-אפשר לדעת  (4)  x
2
1  (3)  x

2
1 פחות מ-  (2)  x

2
1 יותר מ-  (1)  

על פי הנתונים         

כמה שקלים מס הכנסה משלם אזרח שמשכורתו 5,000 שקלים בחודש?  .20

900  (4)  1,000  (3)  1,100  (2)  1,500  (1)  
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שאלות ובעיות (שאלות 25-21)

x3 < x < x2 נתון:   .21
באיזה תחום ערכים נמצא x בהכרח?  

 1 < x  (1)

0 < x < 1  (2)

-1 < x < 0  (3)

x < -1  (4)  

בסרטוט שלפניכם ריבוע ABCD .  גודל השטח המקווקו הוא 12 סמ"ר,   .22
 משטח הריבוע.

3
1 שהם   

על פי נתונים אלה, מה אורך הקטע BE (בס"מ)?  

1.5  (1)

2  (2)

3  (3)

4.5  (4)

A הוא מצולע בעל n צלעות.  .23
B הוא מצולע בעל m צלעות.  

m < n נתון:   

ההפרש בין סכום הזוויות הפנימיות במצולע A לסכום הזוויות הפנימיות במצולע B הוא -  

(n – m) · 180°  (1)

(n – m + 2) · 180°  (2)

  (n – m – 2) · 180°  (3)

(n – m – 4) · 180°  (4)

A

B C

D

E
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$( )x x
x 1= − לכל מספר x הוגדרה הפעולה $ כך:   .24

איזו מהטענות הבאות בנוגע לפעולה $ נכונה לכל a ו-b הגדולים מ-1?  

$(a) · $(b) < 1  (1)

$(b) < $(a) אזי , a < b אם  (2)

2 · $(a) = $(2a)  (3)

($(a))2 = $(a2)  (4)

ידוע שחקלאי העובד לבדו קוטף 10 ק"ג תפוחים בשעה.  כמו כן ידוע שסיוע של כל   .25
חקלאי נוסף יגרום לכך שכל אחד מהחקלאים יגדיל את תפוקתו ב-2 ק"ג בשעה.

8 חקלאים קטפו תפוחים במשך שעה.  

כמה ק"ג תפוחים הם קטפו בסך הכול?  

96  (1)

120  (2)

168  (3)

192  (4)
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עמוד ריק
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חשיבה כמותית
בפרק זה מופיעות שאלות ובעיות של חשיבה כמותית.  לכל שאלה מוצעות ארבע תשובות.  עליכם לבחור את התשובה 

הנכונה ולסמן את מספרה במקום המתאים בגיליון התשובות.

הערות כלליות בנוגע לפרק חשיבה כמותית:
הסרטוטים המצורפים לחלק מהשאלות נועדו לסייע בפתרונן, אך אין הם מסורטטים בהכרח על פי קנה מידה.    *

אין להסיק מסרטוט בלבד על אורך קטעים, גודל זוויות, וכיוצא בהם.  
אם קו נראה ישר בסרטוט, אפשר להניח שהוא אכן ישר.  *

כאשר מופיע בשאלה מונח גאומטרי (צלע, רדיוס, שטח, נפח וכו') כנתון, הכוונה היא למונח שערכו גדול מאפס,   *
אלא אם כן מצוין אחרת.  

     .a הכוונה היא לשורש החיובי של ,(a > 0) a כאשר כתוב בשאלה   *

סימנים ונוסחאות:
הסימן  פירושו זווית של 90° - זווית ישרה.  .1

 

ABC  פירושו הזווית הכלואה   
.BC-ו AB בין הקטעים  

.b-מקביל ל a פירושו a || b  

.b-מאונך ל a פירושו a ⊥ b  

אפס אינו מספר חיובי ואינו מספר שלילי.  .2
אפס הוא מספר זוגי.  

אחד אינו מספר ראשוני.  

 a x100 $ אחוזים:  %a מ-x הם    .3

חזקות:  לכל מספר  a  שונה מאפס,   .4
ולכל  n  ו-m  שלמים -  

  am + n = am · an ב.   a
a
1
n=-n א.   

 (0 < a , 0 < m)  a amm
n n

= ^ h ג.   

 an · m = (an)m ד.   

  (a ± b)2 = a2 ± 2ab + b2 נוסחאות כפל מקוצר:   .5

(a + b)(a – b) = a2 – b2   

דרך
   

בעיות דרך:   = מהירות זמן6.     
כמות עבודה

   
בעיות הספק:   = הספק         זמן7. 

AD || BE || CF   :פרופורציה:   אם  .8

  
AC
AB

DF
DE

= וגם    
DE
AB

EF
BC

= אזי:   

משולש:  .9
a שטח משולש שאורך בסיסו א.   

  a h
2
$ ואורך הגובה לבסיס זה h הוא:     

משפט פיתגורס: ב.   
במשולש ישר זווית ABC כבסרטוט   

AC2
 = AB2

 + BC2 מתקיים החוק הבא:    

במשולש ישר זווית שזוויותיו ג.   

30°, 60°, 90°, אורך הניצב שמול   
הזווית 30° שווה לחצי אורך היתר.   

 a · b  :הוא b ורוחבו a שטח מלבן שאורכו  .10

,a שטח טרפז שאורך בסיסו האחד  .11
h וגובהו ,b אורך בסיסו האחר  

    a b h
2

$+] g הוא:    

סכום הזוויות הפנימיות במצולע  .12
בעל n צלעות הוא:  (180n – 360) מעלות.  

במצולע משוכלל בעל n צלעות גודל כל זווית פנימית   

 מעלות.
n n

n
180

360 180 360
− =

−b bl l הוא:   

עיגול, מעגל:  .13
r שטח עיגול שרדיוסו א.   

(π = 3.14...) πr2  :הוא   

2πr  :הוא r היקף מעגל שרדיוסו ב.   

   x° שטח גזרת עיגול בעלת זווית ראש ג.   
   

πr2 · x 
 360

הוא:     

תיבה, קובייה:  .14
,a הנפח של תיבה שאורכה א.   

a · b · c  :הוא c וגובהה b רוחבה   

2ab + 2bc + 2ac :שטח הפנים של התיבה הוא ב.   

 a = b = c  בקובייה מתקיים ג.   

גליל:  .15
שטח המעטפת של גליל שרדיוס א.   
2πr · h  :הוא h וגובהו r בסיסו   

שטח הפנים של הגליל הוא: ב.   

 2πr2
 + 2πr · h = 2πr(r + h)   

πr2· h  :הנפח של הגליל הוא ג.   

h וגובהו r נפח חרוט שרדיוס בסיסו  .16
    πr2 · h

     3
הוא:   

בפרק זה 25 שאלות.
הזמן המוקצב הוא 25 דקות.

x°
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שאלות ובעיות (שאלות 7-1)

: x
4
3

2
5

10= נתון:   .1

x = ?  

 5  (1)  
2  (2)  
3  (3)  
4  (4)  

  .4
2
1 יאיר בן 8, ואביו מבוגר ממנו פי   .2

לפני כמה שנים היה אביו של יאיר מבוגר ממנו פי 8 ?   

7  (1)  
2  (2)  
5  (3)  
4  (4)  

.AD היא נקודה על E-הוא מלבן ו ABCD בסרטוט שלפניכם  .3
שטח המשולש BCE הוא 6 סמ"ר.  
שטח המשולש ECD הוא 2 סמ"ר.  

מה שטח המשולש הכהה ABE (בסמ"ר)?    

6  (1)  
2  (2)  
3  (3)  
4  (4)  

בכד 11 כדורים בצבעים שונים.  הסיכוי להוציא מהכד כדור לבן שווה לסיכוי להוציא   .4
מהכד כדור שחור.  

איזה מן המספרים הבאים יכול להיות מספר הכדורים השחורים בכד?  

5  (1)  
6  (2)  
7  (3)  
8  (4)  

x – 2 < 5   :נתון האי-שוויון  .5
כמה ערכי x שלמים וגדולים מ-0 מקיימים אותו?  

 10  (1)  
5  (2)  
3  (3)  
6  (4)  

A

B C

DE
2

6
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 . (AB = AC) C-ו B בנקודות O יוצאות שתי קרניים המשיקות למעגל שמרכזו A מהנקודה  .6
על פי נתון זה ונתוני הסרטוט,  

α = ?  

45°  (1)  

50°  (2)  

60°  (3)  

65°  (4)  

y ,x ו-z הם מספרים שלמים ועוקבים, לאו דווקא חיוביים.  נתון:   .7
x < y < z   

x + y + z = 0   

x · y · z = ?  

0  (1)  

2  (2)  

- 3  (3)  

- 4  (4)  

130°

A

B

O

Cα
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הסקה מתרשים (שאלות 11-8)
עיינו היטב בתרשים שלפניכם, וענו על ארבע השאלות שאחריו.

בתרשים שלפניכם נתונים על אודות טווח המהירויות שאֵלי יכול לנוע בהן בהתאם לשיפוע הקרקע.  שיפוע קרקע שלילי 
מעיד על ירידה, ושיפוע קרקע חיובי מעיד על עלייה.

מידת המאמץ שאלי משקיע מושפעת הן ממהירותו והן משיפוע הקרקע.  ככלל, ככל שעולה המהירות ו/או השיפוע, כך 
עולה מידת המאמץ.  לשם נוחיות חולק התרשים ל-5 אזורי מאמץ, שכל אחד מהם מקבץ בתוכו טווח מאמצים מסוים.  

כלומר, מידת המאמץ של אלי משתנה גם בתוך אזור מאמץ מסוים ולא רק במעבר בין אזור לאזור.

לדוגמה: בשיפוע של 5- מעלות אלי יכול לנוע במאמץ מזערי במהירות של 1.5 קמ"ש לכל היותר, או לנוע 
במאמץ ממוצע במהירויות של 1.5 עד 10 קמ"ש, או לנוע במאמץ מרבי במהירויות של 10 עד 16.5 קמ"ש.

שימו לב: בתשובתכם לכל שאלה התעלמו מנתונים המופיעים בשאלות האחרות.

השאלות

אלי נע במהירות של 8 קמ"ש.  באיזה שיפוע מהשיפועים הבאים הוא אינו יכול להימצא?  .8

22- מעלות  (4) 18- מעלות   (3) 15- מעלות   (2) 10- מעלות   (1)  

מה המהירות הנמוכה ביותר שבה אלי יכול לנוע במאמץ קטן?   .9

5 קמ"ש   (4) 3 קמ"ש   (3) 2 קמ"ש   (2) 1.5 קמ"ש   (1)  

באיזו מהמהירויות הבאות יכול אלי לנוע במספר אזורי המאמץ הגדול ביותר?  .10

4.5 קמ"ש  (4) 3 קמ"ש   (3) 10 קמ"ש   (2) 1 קמ"ש   (1)  

בשל תשישות זמנית, אלי לא מסוגל לנוע במאמץ מרבי.  .11
 

אלי לא יכול לנוע במהירות של  קמ"ש בשיפוע של  מעלות.  

-20 ; 4  (4)  2.5 ; 3  (3)  -10 ; 12  (2)  -16 ; 11  (1)  
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שאלות ובעיות (שאלות 19-12)

בכנופייתו של עלי-בבא 100 שודדים.   .12
ל-40 מהשודדים יש רטייה על העין.  

ל-70 מהשודדים יש רגל מעץ.  
ידוע כי ל-25 מהשודדים יש גם רטייה על העין וגם רגל מעץ.  

מה מספר השודדים שאין להם רטייה על העין וגם אין להם רגל מעץ?  

10  (1)  
 15  (2)  
 20  (3)  
 25  (4)  

.k הם שלושה קטעים המאונכים לישר EF-ו CD ,AB  .13
 BDF = 90° נתון:   

על פי נתונים אלה ונתוני הסרטוט,   
איזו מהטענות הבאות נכונה בהכרח?  

AB = EF  (1)  

 AC = CE  (2)  

 BD = DF  (3)  

אף לא אחת מהטענות הנ"ל נכונה בהכרח  (4)  

A ו-B הן אותיות המייצגות ספרות בין 1 ל-9.  .14
נתון כי המספר BA הוא ראשוני, אך המספר AA אינו ראשוני.  

 

איזו מן הספרות הבאות יכולה A לייצג?  

1  (1)  
 5  (2)  
 7  (3)  
 4  (4)  

אילנה הרוויחה בחודש מרס 20 שקלים בעבור כל שעת עבודה, ועבדה בסך הכול   .15
200 שעות.  בחודש אפריל היא הרוויחה 20% יותר בעבור כל שעת עבודה,   

אך בסך הכול הרוויחה בחודש אפריל 10% פחות מבחודש מרס.  
 

כמה שעות עבדה אילנה באפריל?  

150  (1)  
 160  (2)  
 170  (3)  
180  (4)  

A

C

E

k

F

D

B
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במדינה מסוימת יש בדיוק מיליון תושבים.    .16
בכל עיר במדינה יש יותר מ-20,000 תושבים.  

כמה ערים, לכל היותר, יש במדינה זו?  

501  (1)
51  (2)
49  (3)

499  (4)

x הוא מספר ראשוני הגדול מ-6. נתון:   .17
 y = x4   

איזו מהטענות הבאות בהכרח אינה נכונה?  

y אי-זוגי  (1)  
 x-מתחלק ב y  (2)  
y מתחלק ב-3   (3)  

 4x-גדול מ y  (4)  

.(AD || BC) ABCD בסרטוט שלפניכם טרפז  .18
) של הטרפז.  ABC) חוצה את זווית הבסיס BD האלכסון  

?AD =
AB

 

 
1  (1)  

 2  (2)  

 2
1  (3)  

אי-אפשר לדעת על פי הנתונים  (4)  

  .ABCD במערכת הצירים שלפניכם נתון ריבוע  .19
על פי נתון זה ונתוני הסרטוט,  

מה שטח הריבוע?  

אי-אפשר לדעת על פי הנתונים  (1)  

 6  (2)  

 5  (3)  

4  (4)  

A D

B C

B(1,0)

y

x

A(0,2)

D

C
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השוואה כמותית (שאלות 25-20)
השאלות 25-20 מורכבות מזוגות של ביטויים.  בכל שאלה, ביטוי אחד מופיע בטור א, וביטוי שני בטור ב.

בטור שלישי מופיע לעתים מידע נוסף הנוגע לזוג הביטויים שבטורים א ו-ב.  המידע הנוסף עשוי להיות חיוני לפתרון 
השאלה.  עליכם להשוות בין שני הביטויים, אגב הסתייעות במידע הנוסף (אם הוא קיים), ולקבוע אם: 

הביטוי שבטור א גדול יותר  (1)
הביטוי שבטור ב גדול יותר  (2)

שני הביטויים שווים זה לזה  (3)
המידע הנתון אינו מספיק כדי לקבוע איזה מהנ"ל הוא יחס הגדלים בין הביטויים  (4)

לאחר שבחרתם באפשרות שנראית לכם נכונה, סמנו את מספרה במקום המתאים בגיליון התשובות.

מידע נוסףטור בטור א

.20AB2 · AC.בסרטוט שלפניכם קובייה

הסיכוי שסכום התוצאות של21.
2שתי הטלות של המטבע יהיה זוגי

על צדו האחד של מטבע הוגן רשום 1
המספר 1, ועל צדו האחר רשום המספר 2.

.22
( )
( )
x
x

1
1

2

2

+
−1x ≠ 0  ,  x ≠ -1

.23αβ

ABCDEF הוא משושה משוכלל.
.DE היא נקודה כלשהי על הצלע N

.CD היא אמצע הצלע M

.24xy.y-2 אחוזים מx-שווים ל x-2 אחוזים מy

.252αβ

AF הוא קוטר במעגל.
.DE גדולה פי 2 מהקשת BC הקשת

A

B

C

A

B

C M D

N

E

F

α
β

A F

B

C
2x

D

E

β
α

x
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עמוד ריק
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ENGLISH

The following section contains three types of questions:  Sentence Completion, Restatement 
and Reading Comprehension.  Each question is followed by four possible responses.  Choose 
the response which best answers the question and mark its number in the appropriate place 
on the answer sheet.

Sentence Completions (Questions 1-11)
This part consists of sentences with a word or words missing in each.  For each question, 
choose the answer which best completes the sentence.

1.  Banks usually hold a certain amount of money in reserve to cover  that will not be 
repaid.

 (1) debts (2) curses (3) gestures (4) traps

2.  What  macaws from other parrot species are their long tails and huge beaks.

 (1) rescues (2) subtracts (3) distinguishes (4) volunteers

3. Because quasars are so far away from the earth, it is difficult for astronomers to  
reliable data regarding their nature.

 (1) insult (2) gather (3) invite (4) pardon

4. Teeth are composed  of calcium and phosphorus salts, although they contain other 
minerals as well.

 (1) primarily (2) eventually (3) absolutely (4) rapidly

5. Acetic acid gives vinegar its sour .

 (1) taste (2) feel (3) change (4) form

6. Once rare in Israel, kiwi fruits can now be found  the country.

 (1) inside (2) against (3) beneath (4) throughout

7. In 1970, a  earthquake in Peru killed more than 60,000 people.

 (1) tormented (2) devastating (3) repressive (4) meticulous

8. The philanthropic activities of John D. Rockefeller, who gave away approximately $500 
million during his lifetime, made him one of the greatest  of the 20th century.

 (1) spectators (2) illustrators (3) benefactors (4) fabricators

This section contains 27 questions.
The time allotted is 25 minutes.
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9. That people have a capacity for unconditional obedience was  by the American 
psychologist Milgram in a series of experiments.

 (1) substituted (2) demonstrated (3) marketed (4) guarded

10. Taiwan was the first recipient of American foreign aid to become economically self-
sufficient, thereby rendering this aid .

 (1) uncountable (2) unfortunate (3) unorganized (4) unnecessary

11. The United Nations is trying to establish an international  network that will 
monitor the proliferation of nuclear weapons.

 (1) irrigation (2) conspiracy (3) surveillance (4) prosperity

Restatements (Questions 12-17)
This part consists of several sentences, each followed by four possible ways of restating the 
main idea of that sentence in different words.  For each question, choose the one restatement 
which best expresses the meaning of the original sentence.

12. Between 1596 and 1598, Italian artist Caravaggio painted one of his most famous 
works, The Supper at Emmaus.

(1) Caravaggio became famous only in the late 1500s, after he painted The Supper at 
Emmaus.

(2) The Supper at Emmaus is one of the many famous works which Caravaggio painted 
between 1596 and 1598.

(3) Before the late 1500s, Caravaggio had painted only one famous painting:  The 
Supper at Emmaus.

(4) Caravaggio painted The Supper at Emmaus, which is one of his most famous works, 
between 1596 and 1598.

13. While the early 1900s brought revolutionary advances in all fields of science, the most 
dramatic ones were made in the field of physics.

(1) The dramatic discoveries made in the field of physics in the early 1900s led to 
progress in other fields of science as well.

(2) Of the advances that transformed every scientific field in the early 1900s, the most 
radical ones were made in the field of physics.

(3) The revolutionary changes which occurred in the early 1900s affected all fields of 
science, including physics.

(4) During the early 1900s, many advances were made in physics, which consequently 
came to be considered the most important field of science.
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14. A study conducted on Brazilian children found that the risk of catching pneumonia – one 
of the leading causes of child mortality in developing countries – increases fivefold if 
the children are sent to day-care centers.

(1) A study conducted on Brazilian children was able to accurately assess the risk of 
dying from pneumonia faced by children in developing countries because the study 
included both children who were sent to day-care centers and those who stayed at 
home.

(2) Many children in developing countries who are sent to day-care centers die of 
pneumonia even though this disease is not necessarily fatal; one of the reasons for 
this, according to a Brazilian study, may be that these children are not treated 
properly.

(3) The number of children who die of pneumonia is five times greater in developing 
countries than elsewhere, reports a Brazilian study, probably because in these 
countries children are sent to day-care centers from a very early age.

(4) According to a study conducted on Brazilian children, those who are sent to day-
care centers are five times more likely than others to catch pneumonia, which, in 
developing countries, is one of the major causes of death in children.

15. The great difficulty that has faced biographers of Ulysses S. Grant has been how to 
reconcile the disparities in the man's public record, the apparent contradictions in his 
behavior, and the stark contrasts among his various personality traits.

(1) What has been most difficult for Ulysses S. Grant's biographers has been to 
reconcile the many contradictory aspects of his character, behavior and public 
record.

(2) Those who have written biographies of Ulysses S. Grant agree that he was a 
difficult man, but they disagree about many contradictory aspects of his public 
record, behavior and personality.

(3) It is difficult to understand why more biographers have not written about Ulysses S. 
Grant, since he was an extremely interesting man whose life was full of 
contradictions.

(4) By leaving few public records of his life and by encouraging contradictory reports 
about his personality and behavior, Ulysses S. Grant made it difficult for 
biographers to write about him.

16. For the first time, researchers have proven that the aging of our bodies is linked with a 
phenomenon known as senescence – the tendency of cells eventually to stop dividing.

(1) For the first time, researchers have proven that a connection between our bodies' 
aging and senescence exists.

(2) Only recently have researchers begun to study how the process of aging in cells 
affects our bodies.

(3) Researchers now believe that, of the many phenomena linked with aging, 
senescence is the one which occurs most frequently.

(4) For the first time, researchers have proved that certain types of cells eventually stop 
dividing.
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17. The source of the pollution in the Gulf of Mexico is a matter of contention.

(1) There is some dispute as to the origin of the pollution in the Gulf of Mexico.
(2) The Gulf of Mexico has become a significant source of pollution.
(3) The pollution in the Gulf of Mexico is a matter of great concern.
(4) Some people contend that no place is more polluted than the Gulf of Mexico.

Reading Comprehension 
This part consists of two passages, each followed by several related questions.  For each 
question, choose the most appropriate answer based on the text.

Text I (Questions 18-22)

(1)  The continent of Antarctica, where the South Pole is found, is the coldest region on 
earth.  Most of the continent is covered by a layer of ice two kilometers thick.  Even in 
the summer, temperatures away from the coast are well below freezing, too cold for 
most plant and animal life.  In the winter, temperatures can drop to -70 degrees in the 

(5) interior and to -40 degrees along the coast.

  For thousands of years, people suspected but could not prove that this continent 
existed.  Ancient Roman writers called it terra incognita australis, which means 
"unknown southern land."  Tribes in New Zealand told legends about a great white land 
to the south.  In the early 1800s, sailors hunted seals and whales in the waters near 

(10) Antarctica, but little is known about their hunting grounds or their voyages.

  In 1838, Lieutenant Charles Wilkes was sent by the U.S. Navy to explore the 
region.  Wilkes saw enough of the coast to determine that Antarctica was a continent.   
In 1911, two groups of explorers – one British and one Norwegian – set out on a race to 
reach the South Pole.  The Norwegians, led by Roald Amundsen, reached the Pole first 

(15) and returned home safely.  The British group, led by Robert F. Scott, reached the Pole 
thirty-five days after Amundsen's group, but died during the journey home.  A new age 
of Antarctic exploration began in the 1920s, thanks to Richard E. Byrd, an officer in the 
U.S. Navy.  He led a series of expeditions in which an enormous amount of information 
about the continent was collected.  

(20)  Extensive geological and wildlife studies are now being conducted in Antarctica.  
Geologists have discovered evidence suggesting that Antarctica was once a warm land 
covered with trees and plants.  No one knows when or how the continent became an icy 
wasteland.  Today, though many types of seals, whales, birds and fish live along the 

 Antarctic coast, the only forms of life that can survive in the interior are the hardiest 
(25)  kinds of plants and insects.
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Questions

18. The second paragraph mainly discusses -

 (1) ideas people in the past had about Antarctica
 (2) the first people to live in Antarctica
 (3) how the Romans reached Antarctica
 (4) a journey from New Zealand to Antarctica

19. It can be understood from the text that before 1838 -

 (1) only the United States had been interested in Antarctica
 (2) only the British and Norwegians had explored Antarctica
 (3) many people had died trying to explore Antarctica
 (4) it was not clear that Antarctica was a continent

20. The main purpose of the third paragraph is to -

 (1) describe geological research carried out in Antarctica
 (2) discuss the first expeditions to Antarctica
 (3) explain how the Norwegians reached the South Pole 
 (4) describe the dangers explorers faced trying to reach the South Pole

21. According to the last paragraph, geologists have found evidence suggesting that -

 (1) seals and whales have always lived along Antarctica's coast
 (2) Antarctica was once warmer than it is now
 (3) humans once inhabited Antarctica
 (4) Antarctica was not always a continent

22. A good title for this text would be -

 (1) Famous Expeditions to the South Pole
 (2) Wildlife in the Antarctic
 (3) Is Antarctica Getting Colder?
 (4) The Coldest Place on Earth
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Text II (Questions 23-27)

(1)  Although the city of Agra is well known as the site of the Taj Mahal, few know that 
it is also the birthplace of the Indian carpet industry.  In the 1500s, the Mogul Emperor 
Akbar encouraged the immigration of Persian weavers to Agra in order to establish rug 
making in his empire.  "Thanks to the Emperor's initiative, a great variety of carpets 

(5) have been made," reported the court historian Abu-l Fazl in the 16th century.  "The 
carpets of Persia and Turan are no longer highly thought of."  Today, despite a decline  
in production that occurred in subsequent centuries, India's rug makers are again 
producing carpets of high quality.  The carpet industry provides India with much-needed 
foreign currency – $545 million in 1999, up from $500 million the previous year.  India 

(10) now competes with Iran for the largest share of the international carpet market.

  The increase in profits reflects the revival of the carpet industry, which in recent 
years has been attempting to improve quality while responding to international criticism 
regarding the use of child labor.  In order to address the second issue, carpet 
manufacturers have begun to restrict the exploitation of children.  Although widespread 

(15) poverty and India's huge population make it difficult to eliminate child labor completely, 
the Carpet Export Promotion Council (CEPC) is attempting to reduce it by removing 
from the CEPC lists any commercial loom where children are employed.  The CEPC 
has also drawn up a mandatory code of conduct for its members that expressly forbids 
the employment of children.

(20)  With regard to the issue of quality, the industry has taken steps to improve its 
product, sometimes with the help of foreign investors.  For instance, an American 
company, Black Mountain Looms, recently initiated the Mahindra project.  As part      
of this project, people in two villages are being trained in traditional Indian spinning 
and natural-dye methods.  According to Graham Head, a prominent international dealer 

(25) in Oriental carpets, "We are now seeing a return to the standards of the great Indian 
carpets of the past.  And in terms of value for money, the carpets being made today are 
very good."

Questions

23. The main purpose of the first paragraph is to describe the -

 (1) history of the Indian carpet industry
 (2) competition in the international carpet market
 (3) work of early carpet makers in Agra
 (4) improvements made in the quality of Indian carpets

24. It can be inferred that the court historian mentioned in the first paragraph believed that 
Indian carpets were -

 (1) produced only for the Mogul Emperor
 (2) the first type of carpets ever made
 (3) better than those of Persia and Turan
 (4) all made in the same way
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25. According to the second paragraph, why is it difficult to stop the employment of 
children in India?

 (1) The country's population is large and many people are very poor.
 (2) Manufacturers there are unwilling to restrict exploitation.
 (3) The carpet industry is slow to respond to international criticism.
 (4) Carpet makers fear that the quality of the carpets may be affected.

26. According to the text, the Mahindra project was established in order to -

 (1) encourage foreign investors to provide money for Indian carpet factories
 (2) control the quality of the Indian carpets sold in the United States
 (3) introduce modern methods into the Indian carpet industry
 (4) assist the Indian carpet industry in improving the quality of its product

27. An appropriate title for this text would be -

 (1) The Origins of the Indian Carpet
 (2) The Revival of the Indian Carpet Industry
 (3) India's Influence on the International Carpet Market
 (4) Indian Carpets:  The Best in the World?
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עמוד ריק
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ENGLISH
The following section contains three types of questions: Sentence Completion, Restatement 
and Reading Comprehension.  Each question is followed by four possible responses.  Choose 
the response which best answers the question and mark its number in the appropriate place 
on the answer sheet.

Sentence Completions (Questions 1-11)
This part consists of sentences with a word or words missing in each.  For each question, 
choose the answer which best completes the sentence.

1.   what they claimed a decade ago, researchers no longer believe that the use of 
electric rather than gasoline-powered vehicles will significantly reduce air pollution.

 (1) For the sake of 
 (2) Owing to 
 (3) In favor of 
 (4) Contrary to

2. When people are worried or afraid, they often turn to their family for .

 (1) rehearsal (2) revision (3) retirement (4) reassurance

3. Western Europe is the preferred  of many emigrants from Eastern Europe.

 (1) destination (2) engagement (3) displacement (4) consideration

4. Windsor Castle, located 34 kilometres west of London, is the chief  of the Queen 
of England.

 (1) landscape (2) residence (3) assumption (4) opponent

5. Since prehistoric times, fishing has been one of the ways in which people  food.

 (1) adore (2) decline (3) obtain (4) sponsor

6. Bringing basic sanitation services to the millions who lack them is a  for the South 
African government.

 (1) resource (2) possession (3) priority (4) restriction

7. In the early 1900s, Oxford University was an almost  male institution, with men 
outnumbering women ten to one.

 (1) efficiently (2) conveniently (3) exclusively (4) persuasively

This section contains 27 questions.
The time allotted is 25 minutes.
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8. Many proposals for the safe disposal of nuclear waste have been rejected as too
  , even for wealthy nations.

 (1) polite (2) distant (3) costly (4) hasty

9. The eisteddfod, a festival  poets, musicians and singers, is a popular Welsh 
tradition.

 (1) illustrating (2) enclosing (3) distracting (4) featuring

10. Craig Calhoun, an American sociologist, has written a balanced account of the 1989 
student uprising in China; he is sympathetic, but not .

 (1) uncritical (2) probable (3) unattractive (4) particular

11. For many years tomatoes were believed to be poisonous and tomato plants were
   only for decorative purposes.

 (1) convened (2) cultivated (3) modified (4) monitored

Restatements (Questions 12-17)
This part consists of several sentences, each followed by four possible ways of restating the 
main idea of that sentence in different words.  For each question, choose the one restatement 
which best expresses the meaning of the original sentence.

12.  Marsilius of Padua, an Italian political theorist of the 13th century, said that a law has 
no purpose if people do not obey it.

(1) Marsilius of Padua said that even laws that have no purpose must be obeyed.
(2) People may disobey laws if this serves a good purpose, according to Marsilius of 

Padua.
(3) According to Marsilius of Padua, a law is useless unless it is obeyed.
(4) People will not obey a law unless they understand its purpose, according to 

Marsilius of Padua.

13. Until the Middle Ages, when the four-wheeled coach was developed in Germany, the 
most common way to travel was in a wagon consisting of a box set upon an axle which 
connected two wheels.

(1) Four-wheeled coaches were first built in Germany in the Middle Ages; before then, 
most people travelled in wagons made of boxes placed on axles which joined two 
wheels.

(2) In the Middle Ages in Germany, all that was needed to build a coach or a wagon in 
which people could travel were four wheels, two axles, and a box.

(3) Both the wagons and the coaches built in Germany in the Middle Ages had wheels, 
axles and boxes, but most people preferred to travel in the coaches.

(4) Although in the Middle Ages four-wheeled coaches were used in Germany, people 
in other countries continued to travel in wagons made of boxes, wheels and axles.
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14. One would think that, after more than sixty years, historians would have arrived at a 
consensus on how to interpret the main events of World War II, yet their opinions are 
still far from unanimous.

(1) Surprisingly, after more than sixty years, historians still lack a basic understanding 
of the main events of World War II, although they have interpreted them in many 
different ways.

(2) Although one might expect that, after more than sixty years, historians would have 
agreed on how the central events of World War II should be interpreted, they have 
not.

(3) If historians had reached a consensus sixty years ago on what the major events of 
World War II were, they would have been able to find explanations for these events 
by now.

(4) Although many historians believe that the important events of World War II can be 
understood better now, after more than sixty years, than they were immediately 
after the war ended, others disagree.

15. It is both remarkable and deeply disturbing to discover that the Atlantic slave trade 
evoked little, if any, meaningful protest prior to the late eighteenth century.

(1) What has been discovered about the Atlantic slave trade before the late eighteenth 
century has provoked much debate due to the surprising and disturbing nature of 
these discoveries.

(2) Only in the late eighteenth century were the horrors of the Atlantic slave trade 
publicly revealed, leading to massive protests against the cruelty involved in this 
trade.

(3) The fact that no one – or very few people at most – protested against the Atlantic 
slave trade until the late eighteenth century is surprising and extremely troubling.

(4) The majority of people were not very disturbed by the Atlantic slave trade before 
the late eighteenth century because they knew little, if anything, about it.

16. Political economist Adam Smith, a forceful advocate of modern capitalism,  freely 
conceded that capitalism entails significant social costs and is rooted in self-interest.

(1) Adam Smith, who was one of the strongest supporters of modern capitalism, argued 
that its benefits to society outweigh its costs.

(2) According to Adam Smith, who was an influential political economist, people who 
support capitalism are usually self-centered and unconcerned about social problems.

(3) Adam Smith, who was originally a capitalist, came to believe that modern 
capitalism was harmful to society and encouraged selfishness. 

(4) Even Adam Smith, who strongly supported modern capitalism, admitted that 
capitalism involves substantial social costs and is based on the pursuit of personal 
gain.
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17. A succession of foreign armies invaded Russia during the Middle Ages.

(1) Russia's armies were under the control of foreign rulers during the Middle Ages.
(2) Most of the armies that tried to conquer Russia during the Middle Ages were 

successful.
(3) In the Middle Ages, Russia was attacked by one group of invaders after another.
(4) During the Middle Ages, Russia was invaded more frequently than at any other time 

in its history.

Reading Comprehension 
This part consists of two passages, each followed by several related questions.  For each 
question, choose the most appropriate answer based on the text.

Text I (Questions 18-22)

(1)  Whitney Smith is the world's top vexillologist.  He also coined the term 
"vexillology," meaning "the study of flags."  "Vexillology" is a combination of the Latin 
word for flag, vexillum, and the Greek -ology, which means "the study of."  The term, 
which Smith invented sixty years ago, is now used in most of the world's languages.

(5)  Smith is the founder and director of the Flag Research Center in Winchester, 
Massachusetts.  The Center, which he established in 1962, contains 12,000 books and 
pamphlets on flags, including twenty books by Smith himself, as well as 150,000 
documents on flag-related subjects.

  Although the Center probably has more information on flags than any other place in 
(10)  the world, there are few flags on display there.  Smith's purpose is not to collect or 

exhibit flags but to provide information about them.  "My role is to study flags and help 
others to understand them, so I look at flag display as something that I'm supposed to be 
analyzing, rather than encouraging or promoting," he explains.

  Smith travels throughout the world collecting and providing flag data.  For example, 
(15) he supplies the U.S. Department of Defense with current information on foreign flags.  

He also helps France's Foreign Ministry update the flags-of-the-world guidebook it has 
published since 1819.

  One achievement Smith is especially proud of is designing Guyana's flag.  When he 
was twenty years old, Smith read that British Guiana was about to become independent 

(20)  Guyana.  He wrote to the premier, asking about the new flag.  The premier replied that 
the country did not yet have one and invited Smith to offer suggestions.  Smith sent him 
a design.  But Guyana did not become independent until six years later.  At that time, 
Smith wrote again to ask about the flag and received a letter containing a picture of the 
flag.  It was the flag he had designed.
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Questions

18. The text is mainly about the -

(1) design of different countries' flags
(2) world's largest collection of flags
(3) founding of the Flag Research Center
(4) activities of the world's leading flag expert

19. It can be understood from the first paragraph that more than seventy years ago -

(1) many people were interested in vexillology
(2) Smith became a famous vexillologist
(3) no one used the term "vexillology"
(4) vexillologists did not study flags

20. The main purpose of the second paragraph is to discuss -

(1) Smith's career
(2) some books about flags
(3) the Flag Research Center
(4) subjects related to flags

21. The main purpose of the third paragraph is to explain why Smith -

(1) was chosen to direct the Flag Research Center
(2) wants more people to visit the Flag Research Center
(3) does not display many flags at the Flag Research Center  
(4) believes that his Flag Research Center is the best in the world

22. It can be understood that, until he "received a letter" (line 23), Smith -

(1) did not know that Guyana had used his design
(2) did not know whether Guyana was independent
(3) had never before been asked to design a flag 
(4) had forgotten what his design looked like
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Text II (Questions 23-27)

(1)  A Brazilian farmer named Antonio Villas Boas was driving his tractor one day when 
he saw a strange, egg-shaped spacecraft land nearby.  Villas Boas tried to run away, but 
alien beings jumped out of the craft and captured him.  After taking the farmer aboard, 
the aliens performed scientific experiments on him.  They then released him and the 

(5) craft returned to the skies.  The next day, Villas Boas developed a strange illness, unlike 
any that had ever been seen before.

  Bizarre as Villas Boas's tale sounds, it is not unique.  In fact, thousands of similar 
stories about Unidentified Flying Objects (UFOs) are reported every year.  Many of 
these accounts are clearly the products of lively imaginations.  Others are hoaxes:  the 

(10) UFOs shown in some photographs have turned out to be soup plates.

  Most scientists are sceptical about all reports of UFOs.  French astrophysicist 
Jacques Valees points out that if all the accounts were true, it would mean that three 
million alien spacecraft had visited Earth since 1947, when the first sighting of a UFO 
was reported.  United States Air Force scientists have been investigating reports of UFO 

(15) sightings since 1960.  They believe that in many cases, people have mistaken meteors, 
rockets, satellites, or weather balloons for alien spacecraft.  They have also found that 
certain atmospheric conditions create optical illusions, causing observers to think they 
are seeing flying objects.  Nonetheless, scientists have not proven that UFOs do not 
exist.  And they admit that they have no good explanation for experiences like Villas 

(20) Boas's. 

Questions

23. The main purpose of the text is to -

 (1) describe Antonio Villas Boas's experience with aliens and try to explain it
 (2) present reports of alien spacecraft that were proven to be false
 (3) explain why most scientists do not believe in UFOs
 (4) discuss reports about UFOs and possible explanations for them

24. It can be inferred from the statement in lines 5-6 ("strange illness . . . before") that -

 (1) Villas Boas had never been so sick before
 (2) doctors did not know what Villas Boas's sickness was
 (3) people did not believe that experiments had been performed on Villas Boas
 (4) Villas Boas began to behave very strangely

25. "Bizarre . . . unique" (line 7) means -

 (1) Surprisingly, stories like Villas Boas's are very common.
 (2) Although Villas Boas's story is very strange, there are others like it.
 (3) Villas Boas's story is hard to believe, but it could be true.
 (4) It is not unusual to hear stories that are even stranger than Villas Boas's.
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26. It can be inferred from the last paragraph that Jacques Valees believes that -

 (1) UFOs were seen before 1947
 (2) UFO stories cannot all be true
 (3) reports of UFO sightings should be investigated
 (4) three million alien spacecraft have visited Earth

27. It can be inferred from the last paragraph that United States Air Force scientists -

 (1) can explain many UFO sightings
 (2) believe in the existence of UFOs 
 (3) first sighted a UFO in 1960
 (4) think all UFOs are optical illusions
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עמוד ריק
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מפתח תשובות נכונות
מועד דצמבר 2009

חשיבה מילולית - פרק ראשון

מספר 
123456789101112131415161718192021222324252627282930השאלה

התשובה 
331233324421233331232111423112הנכונה

חשיבה מילולית - פרק שני

מספר 
123456789101112131415161718192021222324252627282930השאלה

התשובה 
121124434422121422323314224424הנכונה

חשיבה כמותית - פרק ראשון

מספר 
12345678910111213141516171819202122232425השאלה

התשובה 
1312341114133211314442114הנכונה

חשיבה כמותית - פרק שני

מספר 
12345678910111213141516171819202122232425השאלה

התשובה 
3441441423224313313234444הנכונה

אנגלית - פרק ראשון

מספר 
123456789101112131415161718192021222324252627השאלה

התשובה 
132114232434241111422413142הנכונה

אנגלית - פרק שני

מספר 
123456789101112131415161718192021222324252627השאלה

התשובה 
441233334123123434333142221הנכונה
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ציון
גלם

ציון בסולם האחיד

אנגליתכמותימילולי

0505050

1515151

2525252

3535353

4545554

5555656

6565858

7575960

8586062

9596264

10606366

11616568

12626770

13636871

14647073

15667275

16677477

17687679

18707780

19717982

ציון
גלם

ציון בסולם האחיד

אנגליתכמותימילולי

20728184

21748386

22768588

23778889

24799091

25819293

26839495

27859697

28879898

2989100100

3091102102

3193104104

3295106106

3396109107

3498111109

35100113111

36102115113

37104117115

38106119116

39107121118

ציון
גלם

ציון בסולם האחיד

אנגליתכמותימילולי

40109123120

41111125122

42113127124

43115129125

44116131127

45118133129

46120136131

47122139133

48123142135

49125146137

50127150139

51129141

52131144

53132147

54134150

55136

56138

57141

58144

59147

60150
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כל הזכויות שמורות למרכז ארצי לבחינות ולהערכה (ע"ר)  ©
אין להעתיק או להפיץ בחינה זו או קטעים ממנה, בכל צורה ובכל אמצעי,  או ללמדה, כולה או חלקים ממנה, בלא אישור בכתב מהמרכז הארצי לבחינות ולהערכה.

V Q E
5

2 2+ +

 

V = 106
Q = 102

 E = 104

5
2 106 2 10 102 104 4$ $+ + =
] ]g g

105-101  
531-504

ציון  משוקלל
 אומדן ציון

פסיכומטרי כללי

50200

55-51248-221

60-56276-249

65-61304-277

70-66333-305

75-71361-334

80-76389-362

85-81418-390

90-86446-419

95-91474-447

100-96503-475

ציון  משוקלל
 אומדן ציון

פסיכומטרי כללי

105-101531-504

110-106559-532

115-111587-560

120-116616-588

125-121644-617

130-126672-645

135-131701-673

140-136729-702

145-141761-730

149-146795-762

150800
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כל הזכויות שמורות למרכז ארצי לבחינות ולהערכה (ע"ר)  ©
אין להעתיק או להפיץ בחינה זו או קטעים ממנה, בכל צורה ובכל אמצעי,  או ללמדה, כולה או חלקים ממנה, בלא אישור בכתב מהמרכז הארצי לבחינות ולהערכה.

טווח ציונים
אחוז הנבחנים שציונם נמצא:

מעל לטווח בטווחמתחת לטווח

349-2000397

374-3503394

399-3756490

424-40010585

449-42515679

474-45021772

499-47528864

524-50036955

549-52545847

574-55053938

599-57562830

624-60070822

649-62578715

674-6508569

699-6759145

724-7009532

800-7259820


